> — 5k
1024 $fd % 28 = oo dr 4 | 4 AL ﬁ%:%%OEEBi
1=

A E] I i s g
ORI
sl

F Poio14pd Fina
FRpER L 1] pF 30 A hE

MLR T OF IR RIEE
OF L)AL (FE PRI FRRBOTA B RS 1 o AR FE K 0 2 A o

- cArBl- T B BRI ABZE ER2ZF A o (254)

B>V J—Y vV V¥
20 kN Sm C 5m
5m 5m
A; ;E

SRS TR 2 40 0 B4R B RGP 217 N fclic E = 200 GPa ~ %76 ff A =500 mm? -
SR aBEie— B 70 KN 2k T 4 o SZ R R 22 fihd o ik BRAHTH X B4R 2 X
PR AEES S L S BY G f o (254)

)~

70 kN
—>




102# #fa < 388 2 oo i A | 3 358 gL
Bl RAE
) 2R
BooOoP o 1ded gk

O EEEZ T AL T B PaR e (254)

2 kN/m
1 kN/m
A / V. V.V V. VvV V C
AA  1om B 20 m

43330 %
(#m)

w o~ deRle 2 i o abhed 2 oef 3RG ghd R R RIS (fgg §INA)

cirab~cd 2 ef B2 E A A HEZ10mM-5m2% 10m»F & 4% 22

B I

% f A2 FFh4eT 1 (EA)sp = 10000 kN ~ (EA)gg = 10000 kN ~ (EA)er = 30000 kN » 4
Whv— Bk T A4 12 KN SRS FEMESHEE » 2 T8 0 ¥ aEd o
WG B E Y SR YR SRS R gk S 7 (254)

4 S —
/] d 3m
g : 12 kN —¢
/] y> 3m
g A

e f

Bl



